Lecture 7

The Category of Definetness/Indefinetness

The C of d/ind is expressed by means of the Article. Though this truth seems to be quite indisputable. There have always been many discussions about the place of the Article. The C of d/ind is expressed in any language where the A is used. The position of the A not the meaning of the category but its status in the language is a controversial problem and has been such for centuries.

One of the earliest classifications was Ben Johnson’s classification. He singled out the A in the special class and added it to the general list of parts of speech (according to the Latin scheme where there are 8 PoS, and B. J. finds 5 PoS). In fact he saw all the importance of the A and that’s why referred to it as a separate PoS.

Later grammarians (18, 19th cc) classed the grounds that it was usually used with a noun and it preceded the noun as the adj. Even Nesfield (the end of the 19th c 1898, last reprint 1954) doesn’t distinguish the A as a PoS, but nearly as an adj. His approach was purely structural.

NOW: Бархударев: the A is a PoS but he considers it a formal word which constitute the class of its own and here we find 3 A: I, D, Z. If we think that the A is a word then by definition a word should have a meaning of its own, but the A has no meaning. Also those who consider the existence of the 2 A as a word can’t be zero. Some modern structural linguists don’t take the trouble of explaining the essense of the A, they just refer it to the class of form words. Freeze considers the A together with form words where we  find “that, those, all, two…”. The approach is one and the same – the position in relation to the noun. All those words have one thing in common which is preposition in relation to the noun. Francis calls the A one of the noun determiners. According to Sledd the A is a determiner and he includes it in positional classes.

All in all according to some grammarians the A is a word which constitutes the class of its own, other grammarians claim that A is included in other classes (adj later form words on the basis of its distribution) since it is a structural marker of the word / noun and marks its definiteness / indefiniteness as a grammatical meaning it seems advisable to consider the A the morpheme of the category of definiteness / indefiniteness. The A is a very important text building element. When we introduce a new notion we use the ind or the zero A – introductory function. The def A presents a notion as known or it refer to the previous text – the anaphoric function. The use of the A is closely connected with the theme – rheme structure of the sentence. The ind A and the zero A are commonly used with the new and the def A is used with the theme. Though there are cases when the def A is used for the rheme. Very often in choosing the A we have to deal with a dash between the communicative structure and the situation. More often than not the situational A is stronger than the comm A.

The main thing about the def A is that there should always be some limitations expressed or understood whereas with the ind A no limitation is needed as it only names things. The main paradox: to use the def A you should have some limitation, but it knows all exceptions, on the other hand the ind A doesn’t need any grounds, but it has a number of exceptions.

We should distinguish between the traditional a and the semantic. The trad A does together with some names or with the phraseological units. Here we don’t have to think of the article, it’s a historically and traditionally set phrase. By the sem A we mean the A which carries a certain meaning: a gramm meaning, a communicative meaning and a stylistic meaning.

The zero A is a variant of the ind A in the nominating function with nouns in the plural and uncountables. However there are a numerous instances of the nouns without any A which is not to be explained by the nominating f-n of the ind A. Here we should distinguish two cases: traditional non-use and amission due to some semantic, structural or semantic reasons. Sem reasons: the meaning of the noun, the meaning of the attribute. Structural: the syntactic function of the meaning of the noun, the meaning of the noun and the use in some synt structures. Stylistic: in style proper: telegrams, headlines and for expressive charge.

The Problem of Gender.
The E noun has no grammatical category of gender (there are no markers). However very often we have to express sexual distinction. 

1. when we have diff words: woman – man

2. when there are no pairs of words:

· to add a pronoun

a she-doctor / a he-doctor

· man/woman

washer-man – washer-woman (compound words)

· animals: pronouns or even proper names

a she-goat – a he-goat

Tom-cat – Pussy-cat

· ess – actor – actress

steward – stewardess

Sometimes some objects are usually referred to as “she”: ships, cars, and towns. The problem of personification (elevated prose, fairy-tales) – there’s atendency: something which carries a stronger force and feeling = “he” (sun, love, wind) and something that carries softer forces / feelings is usually referred to as “she” (moon, sweet). When man is a suffix it is not considered (male = female). Chairman, postman = she’s a postman, but sometimes: sportsman = sportswoman. 

